n0O0D00ooooo 4140

googd 5.25

1) fx)=2%+2+10000(1,3) 0000 f0000000000000000000
(2) 00000000 y=f(z)=22+2+100000000000000000000
gooad

3) fx)=2(z—1)(z—-2)0D0000000y=2:+1000000000000000
(4) 000 y=f(z)=arx’>+br+c00000000 P(ay, f(21)), Q(a, f(z2)) DO OO
goooopooodoooooo0 pPQUOOOO0OODOOOOOUODOODOOODOO
0000000000

(5) O0y=max+10y=f(z)=2"-22+100000000m0O00000

6) O0y=me+n0y=f(z)000020000000000000000y=f(z)=
¢ —2?+2+1000000000

(1) *=¢00000000000
y=f'(a)(x —a) + f(a)
0000 f(z)=220+1000 f(1)=30000f(1)=30000000000

y=f'()z-1)+f1)=3x—1)+3=3z

1 1
goo0doooooooooooooogooogd _f’(l) :—gl:l[lDEl[lEIDDDEIDD
od

Y= (1) + f(1)
70
1
——gle-1)+3
1 +10
= ——X —_—
3 3
good

(2) »x=e00000000000
y=f(a)(x—a)+ f(a)
00000 fe)=2¢4+10000000
y=2a+1)(z—a)+ad*+a+1=2a+1)z—a®+1

00000000000000000=-e*+1000e=+10000000000000
y=3zU000y=—20000
(3) xr=e0O0O000OO0OO0OOOO

y=[(a)(x—a)+ f(a)

000000000 y=2:+1000000 f'(¢)=200000000f/(z) =322—-62+2
000 fl(a)=3a>-6a+2=20000000000 a¢=0,20000f(0)=00f(2)=0
O00e=0000000000O

y =2



a=200000000000

y=2x—4
opood
(4) OO0 PQOOOO

f(w2) — f(x1) ar3 + brs + ¢ — (ax? + bxy + ) _a(xe —x1) (22 +21) + b(22 — 71)

T2 — 1 T2 — X1 T2 — I1
=a(ze+x1)+0b

oOooo
fl(x) =2az+b
To + X1
0o0o00oooo pPRODOCODODODOOCOODOO xO000 x:TDDDDDDDDDD
2

r1+x T+ xr1 +x

(= (m52) w(52) )
gooo

(5) F(z)=f(z)—(mx+1)0000y=mex+10y=f(x) 000000 F(x)=000
0z=a00000000 F(a)=0,F'(a)=0000000

F(z) =a2* — 2% —mz

F'(x) =42® — 2z —m
1
DDDFmgzmﬂﬂa:mDFqu#—ﬁ—amzommmmma:QizEDDDD
2
000 m=0,F—~=

3V3
(6) F(z) = f(z) —(mez+n)0000y =me+n 0000000 200000000
(a, f(a)), (b, f(b

L f(0)0000F(2)0 (z—a)?000 (z—$b)20000000000000 F(z)
0 (z—a)?(z—b)20000000000000000000000 F(z) = (z—a)(z—b?)
0ooooo

(z —a)’(z = b*) = 2* — 2(a+ b)2® + ((a + b)* + 2ab) z* — 2ab(a + b)z + a*b”

1
0000 F2)0OODODOOOO a—l—b:O,ab:?DDDDDDDDD

ggoogoogaoo
goog

0000 5,26 00O 521000000000 (2)0000000C0O0OO0OOOOOOOO
000000000 fO (e, b)00000000OO[e,b|]O00000OOO

f(0) = f(a)

1



D00 c(a<e<b)000000

(1) ¢c00D0y=f(x)0000000000006000000<z—¢/<6000000
02000 f(z)< f(c)000000c00000 200000 f(z)— f(c)<000000
000000000000 A>000000

flet+h) = f(o)

3 <0

000000000
fleth) = fle)

!/ — : <
F+e) hllglko h =0
O0ooooo0ooooboooO0o A<O0OODOO
fleth) =) _
h
gogooooooo
/ . fleth) = fo
= >
f=(c) hlinflo h =0

DDDDDDDDDDDDf“@:1mliﬁi@;lkl

o feth) - @
0o0o0000f/(c) = lim ————— h—+0 h

h—0 h

DDDfﬂ@zh@%igi%;ﬁgDDDDDDfﬂd:fJ@DDDDDDDDDDD
0oo
oy e Seth) = fo)
0= file) = Jim —————— =0
00
iy fleth)—fle) _
A ——

0000000 00000000

¢c000y=f(z)0000000000006000000<z—¢<60000000
+000 f(z)> f(¢)000000c00000 200000 f(z)—f(¢)>0000000
00000000000 A>000000

flet+h) = f(c)

0
h >

000000000
fleth) = fle)

fjr(c):hlgﬁo h =0
0000DO00000OO0DoOoo0n0 h<oOobOODOO
flem) —f@) _,
h
goooobgooog
f/‘(c):hl—i?—lowéo
fleth) = flo) fle+h) = (o)

= lim
h—+0 h

000000f.(c)=f.(¢00000000000

000000f(e) = lim ;
flet+h)—flo)
h

000000000000 £ (c)

000 f(c) = hlir{lo

ggn
0 < o) =t FEEN = 1O

<
h—0 h <0



g

fleth)—flo) _
T70

f'(e) = lim

h—0

0000000 00000000
(2) (a,b)0 f(x)>0000000000002,2,0 [a,b]0 2, <2,0000000
0000000000000

prag— = f'(c) (1 < ¢ < x2)

0000 ¢c0000000000 f'(¢)>0000 21 <000 f(xe) — f(x1) = f'(c)(xg —
x1)>00000000 fO0D00O0OOOOOO

(a,b)0 f(2) < 000000000000, 220 [a,b]0 21 <2,00000000
oboooboobobooo

fx2) = f(21)

P = f'(e) (1 < c < x3)

0000 0000000000 f/(c)<0000 2y <2000 f(x2) — fla1) = f'(c) (s —
71)<00000000 f0000000000

o000 5.27 0O0O0O0OO0O0OO0OODOOOOODOOO

(1) f(z) = 207 — 2* (%) f(z) = v

(3) f(x) = 2%logx (4) f(x) =3sinz +sin 3z
2

6) fx) = o~ VT3 © s =(1-7)°

(7) f(x) =x+2coszx (8) f(x) =sinx(1 + cosx)

9) f(@) ==

(1) f'(x) = 4o — 423 = 42(1 —2?) = 42(1 —2)(1 +2) 000 f(x) = 000000
r=-1,0,10000000000000000

T —1
Fa) |+ o[-0 +|0] -
f@) | /] 1 N0 21N

fl)=222—2*=00000 2=0,+/20000000000 20030000000
00(@=0000000000000)000000000000000000000000



T

(2) fll@)=e*—ze®=(1—2)e*000 f(z)=000000 z=1000000000
000000000000

T 1
fl@) |+ 0 |-
fl@) | /et |\

lim f(zx)=0000 lim f(z)=-0000000000000000O0OOOOOOOO
r——00

r—00

god

(3) logz000D0D00002>0000 f(x)00000 2>00000 f/(z) =2zlogz +

1 /1
>~ =z2(logr+1)=0000002=,4/—000000000000000000
T e




r—=4+00000000000000DO000DO0O0DbO0O0bOOODOOobOOObLOODbDOO

I logx
lim z?logz = li BT _ lim (L),
x—+0 r—+0 L x—+0 1
= ()
1
- i, —y-
s
=—— lim 2% =
2 z—+0

lim f(z)=cc 000000 f(x)=000000=10000000000000000
T—00
gbgoboobooboaoboaod

2
(4) sinz000 2r000000000sin32000 %DDDDDDDDDDDDD f(x)

O0b02r00000000000D0 —n<z<os000000000000002z0000
O02nr(n000)000000000000O00O0O0ODO0ODOU0OO —v<z<700000O

ogno
f'(z) =3cosz+3cos3z = 3cosz+3(4cos® x—3cosz) = 6cosz(2cos’x—1) =00000

1 1 1 1
Ocosz=0000 coszxZEDDDD—WSxSWDDDDD xZ_ZW’_EW’_ZW’ZW’
0000ob0o0o0O0obOO0bO0oU0ooO0obDOdoUooOOobOobooogooo
3 1 1 1 1 3
T ——T e ——T —T —
2 4

1 e
0 0 0 0
f(m)\éfzxjifji\2/%x




11
(5) fl@)=2-VI+20 1+22>0000000000f() =1~ —
xr

3

f(#)=0002=-70000

. _3
4
Fla)| -] 0 |+
f) | /
flz)=00000 2—+142=0002z=+/14+20000000 2000
2?=1+z
1+ 1—
0o0ooo 20000000 = 2\/SDD[|DD[|D1‘=\/1+IZODDJ:=T\/S

O000oo0oooo f(0)=0—-+/140=-100000000000000000000OO
oooobooog

(*13 *1) V

(-3-9)

2
1\3 1 1
(6) f(x)z(l—) 0001-—>000000002z>000001>—-00z>1

xr €T €T

1
2 1

1 31
[II]I][IJ:<ODDEIDEI[I1—ZOEI[IEIDf’(x)z(l—) 3—[|a::1|]|]
T

3 T 2
DDDDDDDDDDDDDDDDDDf’(m)>0|:]|][||:|limf(x):1[| lim f(x)ZI
xr—ro0 Tr—r—0o0

limof(x)ZOODDDDDDDDDDDDDDDDDDDDDDDDDD
T——



(7)

fx)=2+4+2cosz 000 flz+2m)=f(x)+2r0000000<z<27000000

gooobooobD 0000 2ne0y 0000 2n7s 000000000 O0ODOO0ODOOO

0 (000n000)0

fx) =x+2cosz 000 f(z)=1—-2sinxz 0000 f(z)=000000 6

oboobooboobobooooood

)
LENCUINS

™ T
! 6 G
) | + 0 - 0 -
flx) | A %-}-\/3 e 5%—\/5
(55 +v3)
~ e - Vi)
(5.27)
. /
(7, 0)
(%)



(8) f(x)D0O0 200000000 —7<z<700000000f(x)=cosz(l4+cosz)—
sin?x = cosx + cos?x — (1 — cos?z) = 2cos?x +cosz — 1 = (2cosz — 1)(cosz + 1) =0 0
O000cosz+1=0000 2cosz—1=00000cosz+1=0000 2 =—m, 70000

%%x—l:ODDDm:—g3%DDDDDDDDDDDDDDDDDDDDDDDDD
oooo0
T s
r |- T s
T 3 3 v
fl@) | o |- 0 +1 0o |-
3v/3 3v/3
f@) | 0 |\ |- 1 a 1 N |0

(9) f(x):x*IZDDDDDDD r>000000000000000000000O000O0O
1 1

y:x_‘”QDDDDlogy:—x21ongD|]DD|]D 000000 —y':—?mlogm—mQ—:
Y T

—2zlogz—2 000 ¢ = —z- 2% (2logz+1) 0000 f/(x) =0000002loga+1=0
D00z=e 200000000

fl)|+] 0 |-
f@) | 2] flem2) |\

0000 lim f(z)=0000000 lim f(z)00000logy =—2%logx 00000000

T—00 r—40
log x
. T 2 _ T
22
, 1
T
= — lim = — lim
x—+0 1 x——+0 _2i
<x2> z?
=— lim 22 =0
x——+0

DDDDOzwl_l}EOlogf(x):10g<w1_1>r20f(m)> 000oooo JJ1_1>r20f(:c)=1|:|D|]D|]D

oooobooooooboooooboooo




0000 5.28 z,z2€[a, b]000 F(x):M(:ﬂ—xl)-l-f(xl)—f(m)ﬂﬂ

T2 —T1

O0F(x)00000000000000O 523000000

f/(z)<00000000000000 fM(2x)>000000000002,<2,0000
gboooobooobooboobooooooo

f(x2) — f(21)

F(zy) p— (1 —21) + f(21) — f(21)
= f(z1) = f(z1) =0
Flay) = JETIE) (4 fa) - fla)

X9 — I

f(x2) = f(x1) + f(21) — f(z2) =0

0000000000F(z)0 [21,2,)000000000000000000 230 21 <
23 <1, 000000000000000z=230 Fl(zs) =000000000F"(z) =
—f"(x) <0000 F'(z)0 [21,2,]000000000000 F(z)0 [, 2, ]0000
00000O0O0O0O0OOO0O0O000

x 1 T3 Z2
F"(x) — —
F'(x) Nl 0N

000 (2, 23)0000 F/(z) >00 (23, 2, ) 0000 F/(x) <00000000 F(z) O
000000O0O0O0OOO0O0O0O00

x X1 X3 Z2
F'(x) +]10 |-
F(z)| 0| Ne| O
000 (21,2.)0000 F(z)>000000

f(x2) — f(=1)

T2 — I

(x —x1) + f(x1) > f(x)

ggboooboobooboaoboaboaboad

0000 5.29 f(o)=00000 fe)20000000000000000000O

f(c)#£0000 f(¢)>00000 f(¢)<000000000
(1) f"(c)>00000 ¢000000 [ab]0 f)>0000000f(z)0 [a,b]
000000000a<z<c00O0O f(z)<00000c<z<bO f/(z)>00000
00 52000 [a,¢)00000000000(b]00000000000000 000
0oooo

(2) f"(c)<00000 ¢000000([ab]0 f2)<0000000f(z)0 [a,b]
000000000a<z<c0D0O0O f(z)>00000c<z<b0 f/(z)<00000
00 52100 [a,¢)00000000000(b]00000000000000 000
0oooo



gbog 530 0OO0oOOooOOOoObOOobObOObDbOObOOO

(1) y = (@5 a+1)? (2) y= 211
(3)y= e (4) y==xlogx
(1)

y = 4z -53@+1)>2+3x -5z +1)2

(z—5)°%x+1)*{4(z+1)+3(z—5)}
(x —5)%(x + 1)*(Tz — 11)

11
000y =00000 x:—lDBDTDDDD

y' = 6(x—5)*(x+1)(Te? — 222 +7)
11 2 11 -6v2
000y =00000 2= -1050 _?me f¢7DDDDDDDDDDDDDD
oooo
11 —6v/2 11 11+6v2
x -1 _— — _— 5
7 7 7
y |+ ] 0 |+ + + 1 0 | — - - 10| +
y'| -1 0 | + 0 - - |- 0 + +
y |/~ A Vd N | [/

000000y =000002=-1,50000y000000 y0x=000000
(-5)*=5‘00000000000000000000000000000000

11 1934917632
7 823543

(5,0)

1 2
(2) y’:l—FDDD y=00000 x:—lDlDDDDy”:?DDDDDDDDD

ooooo
x -1 0
Y|+ 0| = x| —=]0]|+
A e e N e e e
y |7~ N x N /




gobgd 000 y0000000O0O

lim y =00, lim y=—oco, lim y= oo, lim y=—o0
z—+0 z——0 T—00 T——00
0000000000000000000
(1,2)
(71a 72)
(3) ¢ =22 000y =000002=00000y" =—-2e% +422° 000

1
"=0000O0z=-—0—000000000000000000
Y V2 V2

I I

z -—— 0 —
V2 V2

y |+ |+ + 10| =] = | -

y' |+ 0 - = -10 |+

y | A 7~ N\ \

000000000000y 000000y=1000000

lim y =0, lim y=0
Tr—>r00 T—r—00

gboobgooooboobooboon



1 1

(4) ¢ =logz+1000 ¢ =000002=—0000y"=—000y" =0000z
e X

000000000000000000000

T
x | 0 —

e
y | x| -0+
vl x |+ L+ |+
Yy . A

+x000000:=10000y0000000000D0 Iimy=000000000000O
Tr—r00
oooobooooooono

1 log )’
lim zlogx = lim 8T _ lim M

z—+0 a—+0 1 z—+0 1\’
)
1
= lim L —_ lim =0
z——+0 _i z—+0
$2

ooboobooboobobooooboboooooboon

0000 5.31 000000000D0OO0OO0O0O0O0ODOOOO0OO00
WMaz=z2@)=t*—t2y=yt)=t3—1t Qz=z2@)=t—-t3y=ylt)=1—-1t*
B)ax=z@)=t2-t3y=yt)=t—2t* Wr=a2@t)=t—-ty=ylt)=1—-1> -t



1
(1) 2/(t)=43—-2t000 /() =00000 t=0,F— 0000y (t) =3t2—1000

V2
1
MﬂzODDDDtzi;EDDDDxﬁLy@DDDDDDDDDDDDDDDDDDD

oooobOooooooboooon

; T TT T T T
V2 V3 3 V2
= 0 |+ 4+ | +|0] - - 0 |+
T | — — — — |+ —
y |+ + |+ 0 - 0 |+ ]| + |+
y |1 T T 4 L
oo N[ 1T [/ =2 MY N T A
(t DDy()—ODDDD[]G( ;%)w< ;%)) (—17;@ O
( 1

8
\_/
S~—
I
/-\
o
O
7 N
3
—~ =
S
~_
<
7N
%‘H
)
~__
~_

(t) =
) )-
(e () o) -
2(t)=00000¢t=0,£10000(z(0),y
(0,00000 y000000 (0,000000

yt)=00000¢=0,£100002000000 (0,0000000000000000
ooboobooooboooon

/_\E

2
9’ 3\/§

—

_2 2
( %%> ( 973\/5)
(-4.-5%)
(F-5)
(2) 2/(t)=1-3t2000 x’(t)zODDDDtz;LIZIDEIDy’(t):—ZLﬁDDD y'(t)=0

V3
O000¢«=000002'(t),y/ (1) 000000000000 OOOUOOOOOOOOOO

gboobooogon

0)) = (0,0)0(z (1),y (1)) = (0,0)0(x (=1),,y (=1))



t L 0 I
V3 V3

x| - 0 + |+ |+ 0 | -

|+ === ~

y |+ + | +]0]|-

y [T T T +

OO0 N[ T [ /=]

1
%
( 2(0),y(0)) =

7
!
:ﬂﬂommmy®ODDDDD($( ) < ))

L
1 1 2 8

0.0 (+(55) v(35)) - (575-5) oo

2(t)=00000¢t=0,+10000(z(0),y(0)) = (0,)0(z (1),y (1)) = (0,0)0(z (1) ,y (—1)) =

(0,00 000 yO0DOO0O0 (0,0),(0,1) 0000

y(t)=00000t=4+100002000000 (0,0000000000000000O0

gooooooooooo

254

PRI

©Joo

G;L
3v3

0,0)

@)xﬁ):%—SFDDDx%)—ODDDDt—O:SDDDDM)—l—SﬁDDD

1
y(1)=00000¢t=-0000«(),y()000000000000000000000
000000000000000

1 2
| =0+ |+ |+]|0]| -
r |+ === —
v [+ ]+ +]o]-]-]-
y [ T[T T ‘2RAR;
D0 IN[H A2 N |/

xﬁ):ODDDyﬁ):ODDDDD(x@%ymD:(QmD<x<;)w<;>>:(;,2>D

2 2 4 22
(+(5)+(5)) (3 33 )oooeo
() =00000¢t=0,10000(z(0),y(0)) = (0,000 (z(1),y(1)) = (0,-1) 000 y
000000 (0,0),(0,-1)0000

1 1
()—ODDDDL‘—OﬁDDDDxDDDDDD(O,O),<3 —2,0>DDDDDD
gobooboooobooboooooboooo

Ny



1
(4) 2/(t)=1-3t*000 2/(t)=00000 t:;c%DDDDy’(t):—Qt—zlti’)DDD
Yy()=00000¢t=000002'(¢),y(t) 0000000000000 D0OO00OODOO0O0

ooooboooooooboon

" _r 0 L
V3 V3
g | = 0 |+|+|+]| 0 |-
T | =S| == —
y |+ + | +]O0 = = |-
y | T T T 1 1
00 [N 1T [ /=] 4

!
!
Z/(t)=0000¢/(t)=000000 (gc (—1>,y(— ! )) = (—3\2/3,3)D(x(0),y(0))
O

)
¢ =0=1 DDDD(x(O)ay(O)) = (Oal)D (.’t(l),y(l)) = (Oa_l)D
1)000 yOOO0O0D00 (0,0),(0,-1) 0000

[ —1 ) 3—+vH5H | -1 5
yt)=00000 t==+ #DDDD{EDDDDDD 2\[ ;\[,O U

—3_2‘/5 _1;\6,0 OD00O0DoDOoo 3_2\/5 _1;‘/5

—~
8
—
|
—_
~—

<
T
—_
N
I
—~
=
|
==}
=}

obobooboog

1 1
DDDDD2<\/5<%DD1<—1+\/5<%D5<+\/5<%

1 -1 1 . 1
< J<£DDDDDDD—<3 \/5<—DDDDDD
V2 2 2 1 2 2

1 . 1
0.18 = <3 V5 +\/g<£'=.0.43
42 2 2 4

- ~1
0000021<v5<23000000 02711 < - 2\/5 ;\/5<0.322[|DD|]D

goboobobobooboboooooboooobobooobooboooobobooooon
obobooobooboooboobooooobooog

goodd




(0,1)
(_L é) (L é)
3v37 9 3v37 9
(07 _1)
gdond s5.32 0OUO0UOOOboOOOOdO
. sinz —xcosz . et —e® . logcos(ax)
1) im ——— 2) lim ——— lim ———=
(1) 250 x3 2) 250 log(1 + ) (3) 250 log cos(Bz)
. at =0 . . log(1+3%)
Wi~ @>0 O o Ok =%
. 1 1 . . 1
(7) ili% (x2 — xtanm) (8) 11320 xlogx 9) Tlgrolo @sin —
1
. . . 1 . a® +b" \ z
(10 Jim, () fim, 12) i (457
1 2x
t 2 T —x \ ¢
(13) lim < a”) x (14) lim (e“)
z—0 x z—oo \ er —e 7T
(1)
. . /
. sinx —xcosz . (sinz —zcosz)
lim —————— = lim ;
x—0 x x—0 (.’1,‘3)
. cosr —cosx+zsinz
= lim
z—0 32
1 . sinx 1
= — lim = —
3 z—=0 x 3
(2)
et —e " . (e”” — 6’1)/

lim im —————
2=0 log(1+z)  2=0 (log(1+z))

. ef4e "
=lim ———
x—0 1
1+«

:hir%)(ler)(e +e *)=2

x



log cos(ax) _ (logcos(az))’
im ————— = lim —
@=0 logcos(Bz) 20 (log cos(Bz))
1
 eos(an) (—sin(ax)) - o
= hmO T
T—
COS(BZ‘) ( sm(ﬂx)) : ﬂ
_ 9 cos(Bz) S%n(am)
B =0 cos(ax) sin(fBz)
a . cos(fz) sin(az) fzr «
= — lim . - —
B =—0 cos(ax) ar  sin(fz) B
o2
= ﬁ
(4)
. a® —b" . (aw B bw)/ : T T
al:lg% . —ilil%) por —ilgb(loga-a —logh-b") =loga —logb
(5)
5 5\’ 4 4\’ 43
T T Ci ), T A C ), =5 lim —
z—oo e’ T—00 (em) r—oo eT T—00 (em) r—oo e%
3/ 2 2\’
2
— 90 Jim ), — 20 1im 27— 60 tim ), =60 lim —
T—00 (ez) r—oo eT T—00 (ex r—oo eT
!
(=) 1
=120 lim - =120 lim — =0
T— 00 (ea: r—o00 e
(6)
log(1 + 37 log(1 + 3%))’
lim M — lim M — lim log 3 - 3%
T—00 xT T—00 ! z—oo 14 3%
=log3 lim =log3 lim 1
31’
=log3
(7)
1 7 1 _L cosx  sinx—1xcosxr  sinr—zxcosw T
2 rtanz a2 rsinz z2sinx N x3 sinz
ooooo (1)DDDDDDDD
. 1 1 . sinx —zxcosx T
lim | — — = lim - —
750 \ 22 rtanzx 70 3 sin x
. sinx —zxzcost . T
= lim — lim —
0 x z—0 sinx




log x I ( log x)/ . =

lim zlogz = lim = lim ———~- = lim —%— =— lim =0
z——+0 z—+0 l z—+0 1 z—+0 . 1 z——+0
T <x) 2
1
(9) t=—0000z—o0c0c000t—+00000
x
1 1 sin ¢
lim zsin — = lim —sint = lim St =1
T—00 x t—+0 t t—>+0 ¢t

(10) y=2*000 logy =zlogz 0000
ml_l,IEOIOgy:II_IﬁOxIng:O
00000000000 (8)J000Ud00llegz00000OO0OOODOOOOO
log1 :0:x1i>m+ology=10g <x1_1>m+0y)

00 lim y=10000
x—+0

1
(11) 0<ae<bOO0 X>0000e¢X<pX¥X00000020 0000000 x<§DDD

x

1 1 1\= 1
DDDO<£<2DD>ODDDO<$5<<2) obb0dz—+0000 — — o0l
x z

x——+0
1 1

x x - x x 1 x x
(u)y:<a_H')xmmml%y:kg<a4%’)x:1%<a;y'>mmmm
X

1 1 B 1
O000< lim z= < lim () =0000 lm z==00000
z——+0 2 z—+0

2 2

a® +b* a® + b* !
log | —— log (| ———
lim 1 _ —2_1. 2
IL% Ogy_xlg% xr _xg% x!
_ 1 a®loga + b" logb _ a®loga + b" logb
2
_loga+logb 1

5 5 log ab = log(ab)% = log Vab

DDDDDDngDDDDDmg@%gyﬂ%¢ﬁmmmmmml%mmmmmmh%y:
T— T—

VebO OO DO
0o

1
lim (a;b) T = Vab

z—0

goon



x

1
. E 1
(B)yz(zmx> DDDDDkgy:ng<
X X

tanx ,
1 T
( o8 ( z )) 1w o2y tan.a

tanx

)DDDD

lim log y = =1
a50 08 T 21 (x2) 750 22 tanz x?
2z — sin 2z . (2 —sin2x)’
=lim ———— = lim ———~
=0 2x2sin2x 220 (2z2sin2zx)
1 —cos2z ) (1 — cos2x)

im - 5 = lim : 7
@—0 2x8in2x + 2r°cos2x  «—0 (2zsin 2z + 222 cos 27)

sin 2z . (sin 233)'

im — . m ; . 7
@—0 sin 2z + 4w cos 2z — 222sin 2z @—0 (sin 2z + 4z cos 2r — 222 sin 22)

I cos 2x 1
im ==
x50 3cos2x — 62 sin 2z — 222 cos 2z 3

oo

. . . 1
lim y = ili% exp (logy) = exp (i1—>mo log y) = exp <3>

z—0

2z

6+6> 0000

e(l) . e—ZE

(1) = (

logy = €** log ( = ) = log(e +e77) —log(e” — ™)

et —e * 672:6

ogooo

lim logy = lim (log(e” +e™") —log(e” — 679:))/

T—300 gy = Jm (e_2w)/

et —e " et fe*
o lim e e oy 2y
T—00 — ¢ 2 o e —

oad

lim y = lim exp (logy) = exp ( lim log y) =exp(2) = e?
T—00 T—00

T—00



